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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Find out median and mode form the following data : 

Class Frequency 

0—8 

8—16 

16—24 

24—32 

32—40 

40—48 

8 

7 

16 

24 

15 

7 

fuEufyf[kr leadksa ls ekf/;dk rFkk Hkwf;”Bd Kkr dhft, % 

oxZ vko`fŸk 

0—8 

8—16 

16—24 

24—32 

32—40 

40—48 

8 

7 

16 

24 

15 

7 

2. From the data given below, construct Fisher‟s Ideal 

Index No. : 

Item 

Base Year Current Year 

Price 
Expenditure 

(`) 
Price 

Expenditure 

(`) 

A 

B 

C 

D 

2 

4 

1 

5 

40 

16 

10 

25 

5 

8 

2 

10 

75 

40 

24 

60 



 [ 3 ] S-730 

 A-37  P. T. O. 

fuEufyf[kr leadksa ls fQ’kj dk vkn’kZ lwpdkad Kkr 

dhft, % 

en 
vk/kkj o”kZ pkyw o”kZ 

ewY; O;; (`) ewY; O;; (`) 

A 

B 

C 

D 

2 

4 

1 

5 

40 

16 

10 

25 

5 

8 

2 

10 

75 

40 

24 

60 

3. What is Time Series ? Explain briefly the different 

components of time series. Also give importance of 

time series. 

dky Js.kh D;k gksrh gS \ dky Js.kh ds la?kVdksa dk la{ksi esa 

o.kZu dhft,A dky Js.kh ds fo’ys”k.k dh egŸkk dks crkb,A 

4. Define probability and explain the importance of this 

concept in Statistics. Explain the addition and 

multiplication theorems of probability. 

izkf;drk dh ifjHkk”kk nhft, rFkk lka[;dh esa bl fl)kUr 

ds egRo dks le>kb,A izkf;drk ds ;ksx ,oa xq.ku izes;ksa 

dks Li”V dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 



 [ 4 ] S-730 

 A-37 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. „Statistics is the Science of averages.‟ Explain.  

^lkaf[;dh ek/;ksa dk foKku gSA* le>kb,A 

2. Distinguish between primary and secondary data. 

izkFkfed ,oa f}rh;d leadksa esa vUrj Li”V dhft,A 

3. What are the advantages and disadvantages of census 

method ? 

lax.kuk fof/k ds ykHk o gkfu D;k gaS \ 

4. What do you understand by Arithmetic Mean ? Discuss 

its merits and demerits. 

lekUrj ek/; ls vki D;k le>rs gSa \ blds xq.k o nks”k 

crkb,A 

5. Mention the important methods of measuring 

dispersion. 

vifdj.k ekius dh izeq[k jhfr;ksa dks crkb,A 

6. Find out mean from the following data : 

          26, 16, 12, 10, 8, 10, 18, 32, 22 

fuEufyf[kr leadksa ls lekUrj ek/; Kkr dhft, % 

        26, 16, 12, 10, 8, 10, 18, 32, 22 
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7. What is meant by theoretical frequency  

distributions ? 

lS)kfUrd vkòfŸk forj.kksa dk D;k vFkZ gS \ 

8. What is meant by regression ? How does it differ from 

correlation ? 

izrhixeu dk D;k vFkZ gS \ ;g lglEcU/k ls fdl izdkj 

fHkUu gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or 

False. 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR;A 

1. Average speed can be calculated by Harmonic Mean.  

     (True/False) 

vkSlr xfr dh x.kuk gjkRed ek/; ls dh tk ldrh gSaA  

    ¼lR;@vlR;½ 
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2. If Median is 31 and Arithmetic mean is 33, then the 

value of Mode will be 27. (True/False) 

;fn ekf/;dk 31 vkSj lekUrj ek/; 33 gS] rks Hkwf;”Bd 27 

gksxkA 

3. The co-efficient of skewness will be zero in a 

symmetrical distribution. (True/False) 

,d lefer caVu esa fo”kerk xq.kkad ‘kwU; gksrk gSA  

    ¼lR;@vlR;½ 

4. Index Numbers are specilised average. (True/False) 

funsZ’kkad fof’k”Vhd`r ek/; gksrs gSaA  ¼lR;@vlR;½ 

5. Secular trend cannot be curvilinear.  

     (True/False) 

nh?kZdkyhu izo`fŸk oØjs[kh; ugha gks ldrh gSA ¼lR;@vlR;½ 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. Seasonal variations are the short-term variation with 

period. 

ekSleh mPpkopu 
-----------

 vof/k ds vYidkyhu mPpkopu gksrs 

gSaA 

7. Fisher‟s Index Number is called on .......... 

fQ’kj dk lwpdkad 
----------------

 dgykrk gSA 
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8. The sum of squared deviations will be minimum when 

taken from ............ 

fopyuksa ds oxks± dk ;ksx U;wure gksxk tc os 
-----------

 ls fy, 

tk;saA 

9. Value of Karl Pearson‟s coefficients of correlation lies 

between ........... 

dkyZ fi;lZu ds lglEcU/k xq.kkad dk ewY; 
------------

 lhekvksa ds 

e/; vkrk gSA 

10. If both regression co-efficients are 0.4 and 0.9 

respectively, the value of correlation will be ........ 

;fn nksuksa izrhixeu xq.kkad Øe’k% 0-4 rFkk 0-9 gksa] rks 

lglEcU/k 
---------------

 gksxkA 
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